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My Bean Plant

by Rachelle Kreisman

My grandfather loves to grow plants. He raises vegetables and fruits, and he
takes great care of all of them. Last week, Grandpa gave me some green
bean seeds. Now | can grow my own green bean plant.

| brought my seeds home and showed my mom. She helped me get my
green bean project ready. First, we put some soil in a pot. Then we planted
a few seeds. | remembered that Grandpa told me that plants depend on
water and sunlight to grow. So | put the pot in a sunny spot by the window,
and | added some water.
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| checked on my plant every day. When the soil felt dry, | added more water.
Today, | saw a tiny stem. The plant is growing! Over the next few weeks,
more stems and leaves will grow. Then flowers will grow, too.

What am | most excited about? | cannot wait to eat the beans! | think they
will taste even better because | grew them myself.




ReadWOﬂ(Ss My Bean Plant - Comprehension Questions

Name: Date:
1. What did Grandpa give to the main character?

A. some green beans
B. green bean seeds

C. a fully-grown bean plant

2. The main character planted the seeds, put the pot in a sunny spot, and added water. What was the
effect of these actions?

A. The soil got dry right away.
B. A tiny stem grew after some time.

C. The seeds quickly turned into green beans.
3. Read these sentences from the text.

"| put the pot in a sunny spot by the window, and | added some water.

"I checked on my plant every day. When the soil felt dry, | added more water. Today, | saw a tiny
stem. The plant is growing!"

What conclusion can you draw from this evidence?

A. The main character has taken care of many different plants in the past.
B. The main character is doing a good job of taking care of the bean plant.

C. The main character doesn't really care about the bean plant.
4. Read these sentences from the text.
"| cannot wait to eat the beans! | think they will taste even better because | grew them myself."

Why might the main character think the beans will taste even better because he or she grew them?

A. because the main character normally hates the taste of green beans
B. because the main character is way better at growing plants than Grandpa

C. because the main character put work into taking care of the beans

5. What is the main idea of this story?

A. The main character takes care of a green bean seed and helps it start growing into a plant.
B. The main character's grandfather loves to grow vegetables, and he takes great care of all his plants.

C. The main character is excited to eat green beans because they are a tasty vegetable.
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6.

8.
9.

Read these sentences from the text.

"| remembered that Grandpa told me that plants depend on water and sunlight to grow. So | put the
pot in a sunny spot by the window, and | added some water.

"| checked on my plant every day. When the soil felt dry, | added more water. Today, | saw a tiny
stem. The plant is growing!"

Based on this text, what does the phrase "depend on" most closely mean?

A. need
B. like
C. change

. Read these sentences from the text.

"| remembered that Grandpa told me that plants depend on water and sunlight to grow. So | put the
pot in a sunny spot by the window, and | added some water."

Now read this sentence about the same information. Then, choose the answer that completes the
sentence without changing the meaning from the story.

| put the pot in a sunny spot by the window, and | added some water Grandpa told me

that plants depend on water and sunlight to grow.

A. so
B. because

C. but
What do plants need so they can grow?

What are two things the main character did to the bean plant to help it grow?

10. What would happen to the bean plant if the main character forgot to give it water? Use evidence

from the text to support your answer.
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When Will We Have Flying Cars?

by Linda Ruggieri
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People have been trying to build a flying car for a long time. So far, no one
has been able to get a car off the ground safely. But engineers keep trying!

One problem is that flying cars need wings. The wings must be designed so
they will not stick out into other lanes of the road. Engineers are looking for
solutions to that problem.

Two kinds of flying cars are being developed that may solve the problem.
One type is called the Transition. It has rotating blades that spin and lift the
car. Those blades fold flat against the sides when the car is on the ground.

Another kind is named the Skycar. It has large propellers. These propeller
wings fold up and can be packed in the car's trunk.

Flying cars will not just fly up from the road. They will have to take off from
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an airport runway. Still, some people are eager to have one of their own.

Nobody is sure when flying cars will be available, but one company already
has a hundred customers waiting for one.

So fasten your seat belts, and get ready for takeoff. Someday, cars may be
on the road and in the air!




ReadWorks’ When Will We Have Flying Cars? - Comprehension Questions

Name: Date:
1. Which people are trying to build flying cars?

A. engineers
B. airplane pilots

C. racecar drivers
2. What is a main problem engineers are trying to solve to make flying cars?

A. Flying cars need wings that will not stick out into other lanes of the road.
B. Flying cars need to have a special kind of gas to be able to fly.

C. Flying cars need to be able to fly up into the air straight from the road.
3. It is difficult to make a flying car that can be used safely.

What evidence from the text supports this conclusion?

A. Two kinds of flying cars are being developed that may solve the problem.
B. One company already has a hundred customers waiting for a flying car.

C. So far, no one has been able to get a car off the ground safely.
4. Read these sentences from the text.

"People have been trying to build a flying car for a long time. [...] Nobody is sure when
flying cars will be available, but one company already has a hundred customers waiting
for one."

What can you conclude based on this evidence?

A. Engineers are very close to inventing a flying car.
B. Many people are excited about flying cars.

C. People are not interested in cars that can fly.

5. What is the main idea of this article?

A. Flying cars will need to take off from an airport runway, instead of just flying up from the
road.

B. Engineers are trying to make flying cars, but first they have to solve the problems of flying
cars by finding different solutions.

C. Engineers are developing a flying car called the Skycar, which has wings that can fold up
and fit in the car's trunk.
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6. Read these sentences from the text.

"One problem is that flying cars need wings. The wings must be designed so they will not
stick out into other lanes of the road. Engineers are looking for solutions to that problem."

What does the word "designed" mean here?

A. thrown away
B. planned and built
C. forgotten

7. Read this sentence from the text.

“Nobody is sure when flying cars will be available, but one company already has a
hundred customers waiting for one."

Choose the answer that best completes the sentence below without changing the
meaning of the sentence from the text.

nobody is sure when flying cars will be available, one company already has a

hundred customers waiting for one.

A. So
B. Because
C. Even though

8. Why are wings a problem for engineers trying to design flying cars?
9. What are the two solutions engineers have found to the flying cars' wings problem?

10. Which kind of flying car is the better solution to the problem of needing wings? Why?
Support your argument with evidence from the text.
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\Mulﬁplication Facts 0-12

N

)

0x0=0 1x0=0 2x0=0 3x0=0 4x0=0
O0x1=0 1x1=1 2X1=2 3x1=3 Hx1=4
0x2=0 1X2=2 2x2=4 3x2=6 4x2=8
0x3=0 1x3=3 2Xx3=56 3x3=9 H4Xx3=12
Ox4=0 I x4y=Y4 2Xx4=8 Ixy=12 Uxy=16
0x5=0 1x5=5 2x5=10 3x5=15 4x5=20
0xé6=0 1X6=6 2X6=12 3x6=18 Hxé=24
0x7=0 1x7=7 2x7 =14 3x7=2] 4x7=28
0x8=0 1x8=8 2x8=16 3x8=24 4x8=232
0x9=0 1X9=9 2x9=18 3Ix9=27 4x9=236
0x10=0 1x10=10 2x10=20 3x10=30 4x10=40
0x11=0 1x11=11 2Xx11 =22 3x11=33 4x11 =44
0x12=0 1x12=12 2x12=24 3x12=236 H4x12=48
5x0=0 6x0=0 7x0=0 8x0=0 9x0=0
5x1=5 6X1=6 7X1=7 8x1=8 9x1=9
5x2=10 6X2=12 7X2=14 8x2=16 9x2=18
5x3=15 6X3=18 7x3 =21 8x3=24 9x3=27
5x4=20 6Xx4=24 7 X4 =28 8x4=232 9x4=236
5x5=25 6x5=30 7xXx5=35 8x5=40 9x5=45
5Xx6=230 6X6=236 7X6=42 8X6=4H8 9Xxé6=54
5x7=35 6X7 =42 7 X7 =49 8xX7=256 9X7 =63
5x8 =40 6x8 =48 7x8=>56 8X8=64 9x8=72
5x9 =45 6X9 =54 7%X9 =463 8x9=72 9Xx9 =8I
5x10=250 6% 10 =60 7x10=70 8x10=280 9x10=90
5x11 =55 6X11 =66 7x11 =77 8x11 =88 9x11=99
5x12=460 6x12=72 7%x12 =284 8x12=96 9x12=108
10x0=0 11x0=0 12x0=0

10x1=10 1Tx1=11 12x1=12

10x2=20 11x2=22 12x2=24

10x3=230 11x3=33 12x3 =36

10x4 =40 11 x4=44 12x4 =48

10x5=250 11x5=55 12x5 =60

10X 6 = 60 11X 6=266 12X6=72

10x7=70 1 x7=77 12x7 =84

10x8 =280 11x8=288 12X8 =96

10x9 =90 11X9=99 12X9 =108

10x10=100 11x10=110 12x10=120

10x11 =110 11x11 =121 12x11 =132

10x12=120 11x12=132 12X 12 =144




